
 SUBJECT:MATHEMATICS, STD 

                                   CHAPTER 

A. Tick (√) The Correct Option.  

1. 2 kilograms = ___________ gram

a) 200 b) 2  

 

2. Which among the following is the biggest unit of weight

a) Kilogram  b) gram

 

3. The most appropriate unit to measure the weight of one potato is _________

a) Kilogram  b) gram

 

4. Which of the following items 

a) grapes  b) oil

 

5. Which of the following is the 

a)             b)  

 

6. Which is the most appropriate tool to measure 3 kg of  apple?

7. Which of the following is used to measure the weight of rock?
a) Balance  b) Scale
 

8. Approximate weight of an orange is :

a) 4 kg  b) 9kg

 

B. Fill in the blanks.   
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) The Correct Option.       

= ___________ gram 

 c) 2000  d) 20 

following is the biggest unit of weight? _________

b) gram c) milligram d) Kilometer 

The most appropriate unit to measure the weight of one potato is _________

b) gram c) meter d) centimeter 

Which of the following items can be purchased measuring weight

b) oil  c) ribbon d) milk 

Which of the following is the heaviest? 

            c)          d)   

Which is the most appropriate tool to measure 3 kg of  apple? 

 

Which of the following is used to measure the weight of rock?
b) Scale  c) Thermometer d) Compass

Approximate weight of an orange is : 

b) 9kg  c) 1kg   d) 100 gram
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_________ 

The most appropriate unit to measure the weight of one potato is _________ 

can be purchased measuring weight 

 

 

Which of the following is used to measure the weight of rock? 
d) Compass 

d) 100 gram  



1. The standard unit of weight is____________. 

2. 1 Kg = ___________ grams 

3. 7Kg = 7x _________ g = __________ g. 

4. 10 Kg = ___________ g. 

5. 2Kg+ ________ Kg = 5Kg 

6. The appropriate unit to measure the weight of a pumpkin is ________  

7. The appropraite unit to measure the weight of a leaf is _________ 

8. A weight of a big bag of rice is measured in _________ (write the unit) 

C. Arrange in columns and add.  

(i) 29 Kg   100g   and 46 Kg    108 g. 

(ii) 105 Kg   595g and 700 Kg    300g. 

D. Arrange in columns and subtract.       

(i)20 Kg   286 g from 50Kg    300g 

(ii)765 Kg    598g from    989Kg   468g 

E. Compare the following and insert the symbol (> or <) 

1. Weight of a pumpkin  ______ weight of a lemon 

2. Weight of your pencilbox  ______ weight of your school bag 

3. Weight of a sparrow   ______ weight of a peacock 

4. Weight of a study table  ______ weight of your tiffin box 

5. Weight of a banana   ______ weight of a water-melon 

 

F. Guess the weight of the given objects and match 

1. Pencil    700 kg 

2. Your math’s book  10 g 

3. A cabbage   250 g 

4. An elephant   1 kg 

5. A leaf    2 g 


